Solving Linear Inequalities GREEN

	One variable
	x + 5 ≥ 13







	10x + 43 < 13
	4x + 5 > 17
	3x – 4 ≤ 11

	Variable on both sides
	4x + 3 > 9 + 2x
	5x + 3 ≤ x + 19
	3x – 2 ≥ 5x – 8
	1 – 7x < 3x + 11

	Inequalities with brackets!
	
2(x – 4) < x + 7
	
3(5x – 1) ≥ 2(7x + 2)
	
2(x – 4) > 3(x + 2)
	
2(x + 1) ≤ 4(x – 2)


Solving Linear Inequalities AMBER

	One variable
	x + 5 ≥ 13
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	10x + 43 < 13
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	4x + 5 > 17






[image: Image result for number line -5 15]
	3x – 4 ≤ 11
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	Variable on both sides
	4x + 3 > 9 + 2x
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	5x + 3 ≤ x + 19
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	3x – 2 ≥ 5x – 8
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	1 – 7x < 3x + 11
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	Inequalities with brackets!
	
2(x – 4) < x + 7
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3(5x – 1) ≥ 2(7x + 2)
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2(x – 4) > 3(x + 2)
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2(x + 1) ≤ 4(x – 2)
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Solving Linear Inequalities RED

	One variable
	x + 5 ≥ 13
                     -5   -5
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	10x + 43 < 13
                    - 43  - 43
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	4x + 5 > 17
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	3x – 4 ≤ 11
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	Variable on both sides
	4x + 3 > 9 + 2x
          - 2x            - 2x
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	5x + 3 ≤ x + 19
            - x        - x
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	3x – 2 ≥ 5x – 8
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	1 – 7x < 3x + 11
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	Inequalities with brackets!
	
2(x – 4) < x + 7
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3(5x – 1) ≥ 2(7x + 2)
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2(x – 4) > 3(x + 2)
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2(x + 1) ≤ 4(x – 2)
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Integers Number Lines from -15 to 15 (A)
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